Total Efficiency

—h

0.9
0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1

0

5 10 15 20 25 30 3

- o unpolarized: =0
] transverse polarization: o=+1
- & longitudinal polarization: o=-1
e T ]
- T l_;_| I‘I-T T FTJI_I-:—IA [ -
B o ; N 51;4 I-f—:- I _:—?4 A-+A J_ l FA_‘E
T A AT r L T+ %4 :
— FATA T AT T + @)1 | T } —
— ) z '@ T 1 1'® Y
I A .92 1.0:.1.0/9 ] 1'0ig,
- " _ 90 21t TV ey
B A f.:.i.: i@ N
[ FAS T r.5 """"""""""""""""""""""""""""""""""""""""""""" ]
L t @ _|
L HAA 1@ —
- 1@ —
T FAG H@Y RN T ]
u id N
I A e ]
N 4 .
- Alg 7]
F e S E
T CMS Preliminary .

ALy ]
- T T ]

Edl j | 1 | | N | | B I | | B N | | B N | 1 1 1 | | B I S
5 40
o (GeV/c)




